MockoBckoe CyBOpPOBCKO€E BOEHHOE

Tena:

JlorapudMuieckue
YPABHEHHUSA



Ynpaxenus.

1. Berunciure:

1) log, 6+1log,18—1log,4 5) log,108+1log, 121

2) 9"°%% _log log,8 ) 4" _log, log, 35

3) log;75—1log;9+log. 15 7) 1g20+1g2 120,04

4) [83“0‘%23} :log, log, 81 g lg log\/z 32

41,5—10g2 5

)




2. Pemiute ypaBHeHuMe:

) 3log, x=log, 4+log, 54

6 6 6

2) log z 2x =log . 7+log - 4

X

3) log, » [Ej = logl 0,8 — 210gl 2
S 5

4) ZIOgﬁx—logﬁ 3=llog 12



1) TTponorapudmupyiite Beipaxkerne 1000x° |y
1o ocHOoBaHuto 10.

2) I[Iponorapudmupyiite BelpakeHue | s i/’
110 OCHOBAHUIO 4. 64

3) [IpomorapupMupyiTe BEIpaKCHHS 2163 a’

I10 OCHOBAHHIO /6 . b’
4
4) TIponorapudMupyiite BEIpaKeHIE peox
3 2
2

mo ocHoBauuto 0,2.



3. PemnTh ypaBHCHUS:

1) log, (x2 —3x —5) =log, (7 —2x)

2) log,(x+4)+log, (2x+3)=1log, (1+2x)
3) log,(4x+5)=1og,(9—2x)
4) log,(x* —=5x—23)=0

5) log, x=1log,3+log, 5

6) 2log, x =log, 2,5+1og, 10



3. PemnTh ypaBHCHUS:

7) logs (x—4)=log, (12— 5x)
8) log, (xz +3x—7) =1
9) log, 4 =1og, x—log,9

10) 310g7_1 T 10g7_1 9+10g7_1 3

11) 1g(5x—4) :lg(l—x)

12) log,, (x2 —3x—10) =(



3. PemnTh ypaBHCHUS:

13) log. . 4+log3_1 x=log, . 18
14) 3log, 27" —log,327 =log, x
15) 1g(3x—10)=1g(7—2x)

16) log, - (x2 +x—5) =0

17) log,,9—log,, x=log,,3

18) 4log091 T logO,1 2+ logoj1 8



IV. 3ajanue Ha CaMONOATOTOBKY:

Ne 12.8 (a,6), 12.9 (8,r), 12.10 (8,r), 12.17, 12.19 (6)



